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01®
02 (1) lift (2) raise (3) trap (4) rescue
03® 04 ®
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01 You’re not allowed to wear watches or accessories
02®

01 ‘L= ~5HH ot =ICF = TYou're not allowed to + SAFES | OF BHSHTY.
A HSEOIM X|7H0F & #AIS0| ALER?
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01 you're not allowed to play that loud music 02®
03 How about teaching them how to play
04 (O—-D—B—®
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ULt & 715l et

=
o 399 g2 st Ae8z @ 140

O IAS AR LEHL @@ JAs BHUEANL ® IAS UIEA| 7|9EH e
03 ‘~8k= Al {I{?’= "How about + (B)HAI ~?,2
Thow to + SAIRESE | O 2 ESIGHCE

At Nz Of2I0] HHOIM XHESALE ot H20 FAE oloF &X| 227K,
g |

S SU7HEOL 2S0A 27| AFols WS 7I2XI= A ofm?
04 (O =227 22U isg 7I%5tk= 2l 0{EX| 2= 2ol (D) SA2(7t Z2 7
Mse LE0[2t M2ich=X| 211 (B) S20/2t HotH 33 TME0IM 2
2 5SS AlZE ZOHIS0H 2 20| € A2t Lstkt (A) 2 4202t
O Mzt 0D Eoh= 50| ArAAN
G EETEMR
WM Y p.013~014

01 nor can she ride a bicycle
02 had been fixed by a previous owner
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=
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01 (1) nor was she at school yesterday

(2) nor do | like to wake up at 6 a.m.

(3) nor were its words remarkable or eloquent

(4) nor did we have money to buy anything from the cafeteria
02 (1) Little had her mother known about her father before they got

married.

(2) Seldom do my children watch television these days.

(3) Scarcely had | finished the test when the bell rang.
03 (1) have eaten | — have | eaten

(2) she exceeded — did she exceed

(3) I can accept — can | accept
04 does my grandmother eat
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01 (1) All the sandwiches had been eaten by the children.
(2) The air conditioner had been inspected by the man.
(3) The flowers had not been watered by the gardener.
(4) The worn tires had been replaced by the repairman.

02 (1) had been left (2) had finished
30 (4) had disappeared
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04 The birthday cake had been made
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01 had been buried 02 rescued 03 locked
04 nor did their families above ground surrender 05 digging

06 (immediately after

10 word
13 drilled
15 and all were clearly in good health

07 filled up with 08 broken

09 burying 11 grew increasingly uncertain

12 exploratory 14 was sent

16 gave a light of hope 17 be saved 18 to reach

19 broken 20 which 21 TSI 22 (o)perational
23 (v)ital 24 live on 25 every other[second] day
26 was 27 had lost 28 by the time 29 where
30 broke 31 what 32 morale 33 had had
34 drilled 35 was built 36 downward 37 trapped
38 One by one 39 Upon leaving the capsule 40 so
41 that 42 (m)ajor role 43 while he was underground
44 during which 45 singing 46 wholthat] 47 celebrating
48 involved
i 15 el 1 0.024-035
01® 02® 03 @ 04 @ 05 @
06 heroics 07 @ 08®
09 You're not allowed to save any files 1003
11 you’re not allowed to play that loud music 12®@ 13@
14 why don’t you bring some items to donate
15 You must not use chemicals 16 ®,®
17 (1) The robbers had been arrested by the police in May.

(2) The committee had rejected her plan.

(3) An anonymous stranger had paid our bill in advance.

(4) The people in the room had been warned not to take any
photographs by someone.

18 Never did | expect to see Charles at the airport. 190®

20 nor did | wish to be

21 Because the flight to New York had been delayed by inclement

weather, | missed the meeting.

22@® 23@ 24® 25@® 26® 27 @
28® 29® 30@ 31® 320 330
34©@ 350

36 Each miner had lost an average of 8 kilograms

37 Her earnings are enough to live on. 38D 39@
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01 On October 13, 2010, thirty three Chilean miners who had been buried
inside the San José mine for 69 days were finally rescued.

02 It was a triumph of engineering and a victory of faith.

03 The miners locked in below did not give up in the dark, nor did their
families above ground surrender to despair.

04 On August 5, 2010, at around lunch break, miners digging for copper
and gold started to feel vibrations in the earth.

05 Almost immediately after the vibrations began, they heard a sudden
huge explosion, and the whole mine filled up with dust and rock.

06 A massive piece of the nearby mountain had broken off, burying almost
all the layers of the mine.

07 For seventeen days after the initial collapse, there was no word on their
fate.

08 As the days passed, Chileans grew increasingly uncertain that any of
the miners had survived.

09 A small exploratory hole was drilled on August 22, and the camera
captured a message that said, “We are still alive.”

10 It was the first sign of hope.

11 Soon, a video camera was sent down 700 meters deep and captured
the first images of the miners, all clearly in good health.

12 The discovery sparked joyful celebrations nationwide, and rescue
efforts gave a light of hope that the miners could be saved.

13 The miners were lucky to have an air tunnel that allowed enough fresh
air to reach them.

14 They also had broken trucks from which they could charge the batteries
of their head lamps.

15 In addition, they were able to drink water from storage tanks nearby.

16 Until the tunnel to deliver food and medicine was operational, food was
the most critical issue in the shelter.

17 They only had enough food for two days.

18 For eighteen days, each person had to live on two spoonfuls of tuna, a
mouthful of milk, bits of crackers, and a bite of canned fruit every other
day.

19 Another factor which bothered the miners severely was the high heat
and humidity of the shelter.

20 Each miner had lost an average of 8 kilograms by the time they were
rescued.

21 The miners united as a group soon after the collapse.

22 They organized themselves into a society where each person had one
vote.

23 They all knew that if their social structure broke down, their problems
would become more serious and did what they could do best.

24 For example, José Henriquez, a religious man, tried to keep morale up,
and Yonni Barrios, who had had some medical training, helped other
miners with their health problems.

25 On October 9, a rescue hole was finally drilled through to the miners in
their shelter.

26 It created a tunnel large enough to lift them one by one.

27 For this purpose, a specially designed capsule was built.

28 More than 1,400 news reporters from all over the world, together
with the family members of the miners, gathered to watch the rescue
process.

29 On October 12, the first rescue worker was sent downward to the
miners, who greeted him with nervous relief.

30 Soon, the first trapped miner was raised to the surface.

31 One by one, the miners were brought up in the capsule to see the
sunlight.

32 Upon leaving the capsule, each miner was enthusiastically greeted, but
they could not see their families right away.

33 They had been trapped for so long that their first priority was to get
medical attention.

34 Luis Urzta, who had taken a major role as a democratic leader while
underground, was the last one to come up to the surface on October
13.

35 “The 69 days during which we tried so hard were not useless. We
wanted to live for our families, and that was the greatest thing,”

36 Urzla said to the Chilean people after his rescue.

37 Then, the rescuers and the rescued began singing the Chilean national
anthem with the thousands of joyous people who came to support
the operation, celebrating the heroics and the humanity of all those

involved.
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p.110~112

01 (A) Hey, these jeans are on sale!
(B) Become the person you've always wanted to be.
02 O — why retail stores put
— paying
03 association
04 The success of this project is up to us.
05 seems that product placement was designed
06 Have you also noticed that shoes, hats, and socks are displayed
together next to one another?
07 a seller persuades consumers to purchase an additional item
08 if it were not for, would be easier but much less interesting
09 autopilot
10 you may feel as if you “needed” it all along
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p.113~116

01 Being a consumer is tough these days.

02 At the same time, without decisions to make, being a consumer would
be easier but much less interesting.

03 Stores are full of attractive products.

04 Advertisements cover cars and buildings, TV commercials shout
slogans, and pop-up promotions on the Internet can be annoying.

05 Since we can’t have everything we want, we have to make the
resources that we have go as far as possible.

06 Imagine that you go to a shopping mall to buy a pair of jeans.

07 Let’s take a look at some of the things that may affect your decisions
while you are there.

08 Have you ever wondered why retail stores put items on sale?

09 Sales reduce inventory size, making room for the store to buy more
stuff to sell, and they attract customers.

10 If the jeans were originally $100 but are now on sale for $80, the lower
price would lead more customers to consider buying the jeans and
spending another $20 on a T-shirt, too.

11 The bottom line is that sales attract customers that might not have
made purchases at the regular price, and they motivate customers to
spend because their money can now buy more.

12 Jeans are jeans, right? Well, no! There are ordinary jeans and there are
designer jeans.

13 As the TV ads prove, beautiful people wear Brand X, don’t they?

14 And you feel you’ll be more beautiful if you wear it, too. This is the
power of association.

15 When advertisers associate appealing images with certain products,
consumers may buy the products to associate themselves with those
images.

16 You're still the same you, but you feel better about yourself because
you are wearing Brand X’s new jeans.

17 Is this worth paying 25%, 50%, or even 100% more?

18 Well, that’s up to each individual to decide on his or her own.

19 Have you ever been offered to buy something that you had not planned
on buying?

20 A sales clerk may make suggestions to you about what else to buy in

addition to your originally planned purchase.

21 This is called up-selling and it’s designed to be not only helpful for
you, but also for the store’s bottom line.

22 Have you also noticed that shoes, hats, and socks are displayed
together next to one another?

23 They are mostly inexpensive items strategically placed there.

24 Since you’ve already decided to buy a pair of jeans, why not buy a pair
of sneakers too?

25 No one can tell you that you shouldn’t buy something that really suits
you, but remember that the arrangement of items in a store is not
random.

26 Product placement seems to have been designed to give subtle
suggestions to consumers while they shop.

27 Why are you influenced by these marketing strategies? What’s going
on in your head?

28 Well, when your brain is loaded with too many decisions to make, it
may go on “autopilot.”

29 Instead of deliberating, you choose the easy way and make your
decisions automatically.

30 For example, many people may simply assume that buying an item on
sale will save them money, or that something with a higher price tag is
better in quality.

31 Furthermore, if a cashier recommends something, you may feel as if
you “needed” it all along.

32 If there are so many choices and marketing strategies out there, how
can you become a smart consumer?

33 There isn’t a “right” answer for everyone because we have different
tastes and different values, but the first step is to be aware of your
“autopilot” mode.

34 To prevent this, ask yourself these questions before you make any
purchase:

35 Do | really need the product or do | simply want it?

36 Would my money be better spent on something else?

37 In the jungle of information, you may feel overwhelmed.

38 Don’t worry, though; being a smart consumer is not something that
comes naturally.

39 Once you start noticing what’s out there, your experience and wisdom
will guide you to smart consuming.
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01 (A) had been buried (B) locked (C) burying

02 nor did their families above ground surrender to despair

03 (a) engineering (b) faith

04 there was no word on their fate

05 (A) survival (B) captured

06 exploratory

07 they had broken trucks from which they could charge the batteries
of their head lamps

08 Another factor bothering the miners severely was the high heat
and humidity of the shelter.

09 (a) helped (b) bothered

10 (1) @ — wherelin which] (2) ® — helped

11 if their social structure broke down, their problems would become
more serious and did what they could do best

12 It created a tunnel large enough to lift them one by one.

13 (D)emocratic

14 @ was sent © were brought up © Leaving

15 They had been trapped for so long that their first priority was to
get medical attention.

16 The 69 days during which we tried so hard were not useless.

17 (a) heroics (b) humanity

18 The rescue capsule Fénix was designed by the Chilean Navy
in collaboration with NASA to rescue the 33 miners trapped

underground in Chile’s San José copper mine.




19 they would provide enough air for one person to breathe for about
90 minutes

20 that the trip to the surface was expected to take

21 (a) (@)ppearance (b) (e)quipment

22 The rescue capsule Fénix had a communication system so that the
miners could speak to the surface while being lifted up.

23 @ getting © lowered © shared

24 are left alone without basic necessities

25 (A) distributed (B) distributing (C) assist
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p.142~149

01 (a) is (b) annoying (c) affect

02 were it not for decisions to make

03 we have to make the resources that we have go as far as possible

04 the lower price would lead more customers to consider buying the
jeans and spending another $20 on a T-shirt as well

05 sales attract customers that might not have made purchases at
the regular price

06 The reason retail stores sell their items at the discounted price is
that sales can reduce inventory size and motivate customers to
buy more.

07 association

08 (a) appealing (b) paying (c) to decide

09 (A) Advertising (B) Images

10 @ suggestions © arrangement

11 (@) planned (b) placed (c) buy

12 it’s designed to be not only helpful for you, but also for the store’s
bottom line

13 seems that product placement was designed to give subtle
suggestions to consumers while they shop

14 A sales clerk’s recommendations and the disposition of items in a
store can lead us to make impulsive purchases.

15 the easy way and make your decisions automatically

16 (A) assumptions (B) recommendations

17 deliberate

18 the first step is to be aware of your “autopilot” mode

19 being a smart consumer is not something that comes naturally

20 Once you start noticing what’s out there, your experience and
wisdom will guide you to smart consuming.

21 (a) (b)udgets (b) (v)ariety (c) (iDnherited

22 (A) (Neasons (B) (b)enefits () (c)haracteristics

23 Instead of customers coming up

24 Kogi’s marketing strategy uses social networking to announce
where it will turn up next.

25 (A) sandwiches (B) parachute
(O) a mix of BBQ from Korea and food from Mexico
(D) social networking
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